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i fedip:
(Bx+ 5)(2x + 5)(4x + 3) (5x + 4)(x + 6)(6x — 6)
o +x—2)2x+1)—3x+2 (3x+ 3)3x + 2)(x - 5)
x+ (1+3x)3x— 4)(3x— 5) (Bx+ 1)(5x% + 5x — 4) + (6x + 4)(4x + 4)
(6 = 3)(x— 1) + 3% —2x +3 Sx+ (4+ 5%)(5x — 3)(2x + 4)
(o +x+ 1)(6x +5)—4x + 5 (3x— 3)( +x+ 5)+ (2x +4)(5x— 1)
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- IFGIGE THR:
(Bx+ 5)(2x+ 5)(4x + 3) (5x+ 4)(x + 6)(6x — 6)
24x° + 118%° + 175x + 75 30x° + 174x% — 60x — 144
& +x—2)2x+1)-3x+2 (3x + 3)(3x+ 2)(x — 3)
26 + 3% — 6x 9> — 30x” — 69x — 30
x+ (1+3x)3x—4)3x—5) (Bx+ 1)(5x2 +5x—4)+ (6x +4)(4x + 4)
27 — 72x% + 34x + 20 15x° + 4452 + 33x+ 12
(6x° = 3)(x— 1) + 3¢ —2x +3 5x+ (44 5x)(5x — 3)(2x + 4)
6 — 3xr —5x+ 6 50x° + 110x% + x — 48
(o +x+ 1)(6x+5)—4x+5 (Bx—3)? +x+35)+(2x +4HGx— 1)
6> + 1122 + 7x + 10 3% 4 10x% + 30x— 19
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